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Important Instruction to Examiners:-

1) The answers should be examined by key words & not as word to word as given in the model answers
scheme.

2) The model answers & answers written by the candidate may vary but the examiner may try to access
the understanding level of the candidate.

3) The language errors such as grammatical, spelling errors should not be given more importance.
4) While assessing figures, examiners, may give credit for principle components indicated in the figure.

5) The figures drawn by candidate & model answer may vary. The examiner may give credit for any
equivalent figure drawn.

5) Credit may be given step wise for numerical problems. In some cases, the assumed contact values
may vary and there may be some difference in the candidate’s answers and model answer.

6) In case of some questions credit may be given by judgment on part of examiner of relevant answer
based on candidates understanding.

7) For programming language papers, credit may be given to any other programme based on equivalent
concept.

Important notes to examiner




Subjeet Code: l ?30,{’

SUMMER - 15 EXAMINATION
Model Answer

Page No: oL / Lo

dne sigm of S

T —

| Q.NO | SOLUTION MARKS
Q= A
a) i? Farique L4 is (Mopaty oF maduda) by Vivhue
of 1y ¥esisks  dhe failupe OF magturid| umdey
Aludtuaring oy gepedted” load na 0l M
HickuaRNg O _qepecd ng | ™
/\, Cyet P Hre caprinuer c!o}r_\rrwﬁrinn af fmamicd
whicth _umdeurgoes iy +iyme due 4o applicdhan of
entd eyl S%tad\.ll lodd |s culled Cpeepn al ™
b) §;> pancipdl plane - are dhe Ao plants oahure dhe
noral Siess (6) 1S dhe mastimun oy mmimausg
and N sheay Skresses 0| M
‘1i/\> Mindpal sywess - TFNC normalsiresses g/\,
QMna o e ovindndl plenes ol M
_J — T v T T ) ‘Jl‘-‘—'l ' ]
)
St
dhe yaie ot thamage ot hméiifj moment 18 equadl
o shtax foxce ' 0l M
i SF -0 /hemdi\rls maweak 1S W\rmxmum
A Wwhidh Sholoy dne pont of  pnos. B-M
amd oIt ok Zevo SWeon G dvye pOINYT n(.g_hn_m_rjn'ma




SUMMER - 15 EXAMINATION .
’\uhmu(ndt |:r'3011’ Model Answer Page No: €3 / 4o
Q .NO SOLUTION [ MARKS
e -
I (d) Assumprion 1N dheora o f bemdina
B T i ! )
g) ane -.;V_r.Lh.LE_--“. o \oumdy odulug al Equh‘tm.]l \/ M
LS same in dmnsion  afd  Copvesiion co¥
0 I marmal o e s heoaemous and o\
74 ? —
lsodvople fous
]i{/& The Tyamsyerse SecHons wnich exe  plamne
be oyt qug\\\r\j FUMNOIY nlrmp atroe Bending dly
f\i/\ dihe Beany ;r\,’,rldl\\f Shaldht and al) Yengidudin {
B ament  bend nte OYpglas accs  widy onmen
CNRL af  cupnatuxe
Wi Tine sadi of  Campvadtig s \dAge ag corvyuut 4o
dne_divnensions of e (noss=SecHar
NIAN 20 T8 laeny o€ ¢t Rearny s fye o empPoNQ e
gy conlyaly, inr\apmdmﬂul ofane\ayes dlpoue
oY _pelow it
Q.} CoYe of SecHon oy Cixtalax Caluwmy.
/7"‘7\‘_ — ==
/ 57 q
sl &
/// P
| S\ 02.M
== 4 h
\%// _)
l\__/ g
/f /
[J d/‘ P—"
I |
I




S SUMMER — 15 EXAMINATION
Model Answer

Page No: 0 &f 4o

Subject Code: \?‘30‘1
[ Q.NO S i ~ SOLUTION MARKS
f—> E= gl (l—;_u}, Whext Ax 0\ ™M
E- 2GC\+0) E =~ Youmngs mModulus 0l M
K~ R modddud
G = Sheay mopdulus
A= PoisS on'y Xaho
gyl i> e&-uc 01N
& - (26° L ana G +CIM(‘]‘UI_"§'\’;!C1J\ Q™M
Sheess 15 pranionnund
h endina siress  Disyw i pusie)  diagray oy ~yectan -
1% , l 5
aulax secton o g‘nfu_r\,lr‘g\uI supported R coamiiluul
Begmm.
b /'V .
FARE Wi e G
cl.. Y - EE ;
J ) 2 e Nl oo ﬂb\g Ce
2 Yy L _ N - _V _ N> __
N‘.—-—-—‘-'—-——o———-r—-—7‘ // \ / ' H
d/ - \!-!; jk.r\ Me :}% ol ™M
iy % ﬂ‘\ ﬂg\ Foy
19- b
Q) Beam SecHon .z Ot Ge Q‘_‘i_‘l
) sending ) Bending
SIS Qaxioh an ShetssVva+ G 1)
diagnam fox _lanon  Fox oY
SIMPY  suppory Coami 1V frg ¢ )
BEw) bty | —




e SUMMER - 15 EXAMINATION

Subject Code: \'.}130)_1 Model Answer Page No: _Qéfqo
T QNO i ~ SOLUTION . | MARKS
o=1-8)
CJ) given :
l} P— 4o kn U}Gpmmissib!t’ LSO ™M pa,
(wehae
6-— P - P ol M
R’ -[T/Xd?"-
-a X ¥ ~ ’
put dhe vatue Y R A
40)&[03
sy = al™
L‘
> 9 3
] d _ 4 X.lo ol M
TL % (sD
L—L
[1#-8)
d%- 2149:%,
d= (B-43 mm ¢1 .1
) glven daia
. e A ,L
vz d= 1m b Fluid peessure = 1< N mm
n
Grmste =40 Nlmm~ factor ot saftiy = 4
- ‘ :
since Noop  Shyesy ir fwice ghe longituding
shiesg pipe will Fanl \F e hoop  SYYess enkceedd

ghe  coarking  Syresc.
_ e )




Subject Code: |30 Lt

SUMMER - 15 EXAMINATION
Model Answer

Page No: 96 /40

~ QNO SOLUTION MARKS
fauny of safthy =
= A woNlmmS Ly
45 £
Ge = _pd Ql M
Uk
lao= ¥ xloo 0lM
LXKt
. Thitkpesc ok plpe g't: FaY mm}S ol™
C) 0 M
s |2 |
e = )
2 9IVeN dara
I
! ! 3= (SO mm |/,gv\|
2
_2 l : k\omm: K= q00 mm il
(o] i
o9 I b= WIdh ok Shaded fiq
c | 1 ==
| . PorHup (10-10) =140
I | mm
g ] : )/M
& | h= hugnt of shadtd >
) poxrian FoyY
KQOO*LEKO\ — 180 ywm g
( = - Jare
: 3
1S Tyy = BY _bhs = gl [Rhg—bh?’] ol M
/ 12 (> 2
Y_)(sr = Ll—!\:\_],y 2_\(103-— |40 X 'LR(\S—{ ol B
2 { 11
lxxz 2139% 10 D ol M




R

SUMMER - 15 EXAMINATION

Page No: 07 / 40O

Subject Code: Model Answer
| Q.NO SOLUTION MARKS
Q-2(a)
Vs (mﬂmmm \J AT\ Sechen Shoysa am_fcc! lndc_ﬁ
7 ) i ")
C 0
i e ©
P o, = 5
—~— an_ ta o
= 2k
Ly L2
= SB yored ks - SV
whure  aa P - aomal loud
A, B, P L)L, L, one dn c)s-anca L \eppny
of_settion @ @ @
b
AL
) H\M/ ol ™M
A Lo
' g
| \ \ e Ehecve lundana
L 0 Le )
| / o™
I
J y/ \.pttr_: L Py
7 o T FoY
= Foymu
Y .. Fiyed A
&t
L P




Subject Code: |F20 4

SUMMER - 15 EXAMINATION
Model Answer

Page No: 08 /40

T Q NO SOLUTION MARKS
b‘/\ ‘ B sswm prony W Eulers  column T’f\.(’ﬂ\f
\/S The ynarial of dnt olwan 8 pmmhul homae-4 M
CJkememu, amd A pic s
1> The colwmy s InHoy Shaighy _dand ot umi= ah
form  lovrad)  dimnensiany S
I\\} ™M load on S coluym S P:gcﬂt’m.i amicd . Fouﬁr;
WY T calunn s \ong and fauils due hutkn'n}
oy hendvng  anly i
\J>, The gut waght of ¥t slumy) s xeglecded
\;i/\ Fhe calumy T Sesed  ptd dne \imit of
pYopoxiional vy
C) g iven dasa
L - 200 mm d- 20 M
- mg"c Tord) Miemy\on — o4 Mm
E- 2% "l @ o - [Lx\ge/’r |,
i & i 7T
Total enthmsion ok $he Tod = free enponsion 4+
bBxvnsien St due 4o
e @
on = ( Leck) + dL dutro favce p \/LM,
04 - @\ooxmx 168 % l00> £ &
o B ) Wl o o, i o Y
'(im

SLz 004 pm




SUMMER - 15 EXAMINATION

“vul‘,‘](.(.t({)d(. \4—30[\. Model Answer Page No: OSIQU
I QNO [ ~ SOLUTION ' | MARKS|
Q-2 ()
Commt? Bt
(
PE - e
ooy - PX»o0 L,
Kol A
/f)‘w \'v 2 X | (2> -
“ogy J°
| T = 3 |
P= C-o4x _C/Q,XLO)X?.X[D \/i\v}
200

P= 2373 x (8 N oy P-&333 ki o™

d A c ¢ D
W X 1omm
- -~—— 4HoX Yo 5 IO . 30%30 [— . 160 kN
[70 M - THv
KN | |
Ly AT o by 1O e [0

- 18
1N ek Az Lox4o= (600 mm L= lyn = 1000 YY)

i —
|

£ - WXLO ~ Lgonmml‘ Lo\ = {ooomi)

P> 20X30 ~ QOommL Ly = s on= 130 0 My

J

n} To find umxnown  Yalue of ‘P

e = —lwtrwo—Ptleo

— Lo

P: 260 KN (+-\ oM

.!ll/\, ,g!_,: (q (“_ S,

t—- l - 3

o P Ll \ 92,‘.7__ \ P3 L}

PIE | B,E | PLE =




SUMMER -

15 EXAMINATION

Subject Code: \‘.’—30[1 Model Answer Page Nu:ﬁfﬁo
| Q.NO e SOLUTION MARKS
Sz | I P S P, Lo & P33 7] ‘/"z,M
E L b P Ay |
— 1 [Qwxi?)xieoo | (-“100Xl03)><l000
T
2x |08 606 400
(160 %16 ) XD \ oM
guo \
= ‘ rﬂr \rla‘S__“)mYngl 1AL .67 X ( 3'—[
Y L']J }[U L= = 1 T & /f‘\\-'J
LX (0
d\ = o LS8R mm SHR
Q> qiven daia
d- lomm
Px = amia) pull = 10wy :m)ql‘txg N} gqrm}q‘-o
pProme on whteh
P:WKN (4 % 6t aes
1 20K . w
i—G) d=lomm }——b— ? ' '50/ 20 KoY l,i"'l
A= T d— T, b= 28539 mmE L, ™
4 4
1D Gz L 1_9)‘[03 = 2SL6T N |y = L™
A 98539
6z 90 —20"= Ga®




SUMMER - 15 EXAMINATION

Subject Code: ]?3016( Model Answer Page No: L!Zfo
| Q.NO o SOLUTION - MARKS
|
| .
0> To #ind  nopma) sy (64) amg famgun il
Shiess (GQ
C\_n“/glk GL”\_.:‘_ (QX’Q’\‘!\ (oS 16 + OL- Sine l/IM
2z N 2 =
- [zsu-es“+o\+[%q-as—o\ Cos (1x6.5 )40
. oz &4 "\ 3
Cp—= ZAH-6F | 28465 —0 cogpng
n & .
2> -
2 . ;
Cno 6266 Nlmm Cremsile) L™
g UL b / ‘ /2/ !
Gt - /Q‘T‘_Q’ﬂ_\ Sin?26—39.(0i26 LM
¥ > T /o
y &
— [asu6v—0 \ Sinaxcoe)—0n /M
NN — 77
\ =z
Gt = LHES g
2
Gt- 116-266 N | 1{\/\%1 \xp'}
13\/ givey, dard - L= 2w = 3oc0mm d=lm- (oomm
t-1smm P Vs NjmmE B oW )g” N lwm® X
AU_-_'_‘ 02X
1>, To tind Avcumbexental Shain CQ;} ]/i"ﬂl
e, - P9 ("_7_-—[1\ |
R 8 b,

HtE



SUMMER — 15 EXAMINATION

Subject Code: \?-30“? Model Answer Page No: 12 /40
Q NO - ' SOLUTION o MARKS
—~ |*§S xloon (,;0‘1&} !/z,m
4 %IS XL % |03
1
Qcz 21841 xi5! 2
uYy  To find oy dudindl  Shain (@ N\
/ LRl L)
Bz PO _ro g 4
Hre ~ 7
el = |-S X\0QQ (l‘—zﬂy;ob\'/\ \@,}
O XIS x 2% (&
0l M

QL= _eagxie




Subject Code: )736’11

SUMMER - 15 EXAMINATION
Model Answer

i_.

Page No: Ef Zfo

' Q.NO SOL‘EJ\JTION MARKS
83 ‘e
Ak—rtn e Lyp—3i 8
- vl
.= 2=
)
SED- |Lm
2
(=>
oz wla.,
WL
AR
2m
3
/ =+ \\ B8MD
» C‘unﬁo;p’i yereSors
ay ?’E; 12
R9+Rﬂ w  —K)
b>Zrmén=o
Wx 5 = Raxl =0 -
" RR s AL = W =z M
-2 iz
T RAa = W-RR = W-wW = W =y
7 =y 2 A
V) S F Caltuledion
Srad.ww )eaﬁfe:!f\ o KN
sfwt\j\m o,fﬂ- Rn = Mo up
o Fal juat m@efogo = X

KN



Subject Code: 17304

SUMMER - 15 EXAMINATION
Model Answer

Page No: if] /40

Q .NO SOLUTION MARKS
= — __
S5 | SFatjuat Qghtep o = 2=V = " K
0 eco
Sfal just Jepted 8 = - - wp | 4mM
SFal just gighl of 8- -4 P2 =0 k)
nry Bm coledulion
BMal p = BMalB = © KNy - - Simple &uouoad

x As ghe point cu" Gontzasheos i cmcjﬂca/ d)')c poing

"

Loac/ o%e Max/mum B 1ol be fjwz/ope c;wr;/é”f

Jhe low;nﬁ Joeed i€ cal C

e BMe = RAXL = W ) = %%L ;';”{m
A &= " 2
% 7'/)(3 10Xy S)?zwz( fa;ﬁf ol e CJ‘PV!’/@?P&/
al  Jhe cu,oooﬂ‘% Q/&JPJL@ wmmaﬁv DX YD
SEat dupﬁayu‘ A LB e f%/au,/
Mogimuyr S F R ox FB = ). 2 |
i I e
@32hy 20 Kyl.
1S KN)rm i
KWM
_
A X §ro - A
gsftﬂ\ gbKH ZeUp
e p ¢ 2

SF D (K

SSKEM
s




SUMMER - 15 EXAMINATION

Subject Code: !'7 50O Model Answer Page No: S / Lo
t4
Q .NO SOLUTION MARKS
-:f
.g‘) b> 4o 83K\
C,‘D rLtl o

e

e \\ e Z™
Bmp (KN \ - /
\'@/Vw-m
;7 QuJJ oot zewe oy
ax ZF-:L o
Rﬂ+ﬂﬂ Clsxg)+30 = 120 RN —F1)
by =Z=m@h =0
(15 %6x 3> + (Box &) — Réxs =o
slo = 6 RR3
RB = 8 RN 9™
- Rp = 35 KN
ity SF caladulon
S-F at -.u,n,ﬂe;H of A =0 KN
S-F et ;vé‘f mwof A =Fp =35k
SF et just 7190;24 ef B = 35-(15x8) = ~s5 HN dm

\Sfaf\;ufww(?m/ v,;f R =-5s+8¢ = Zo KN

S'ch\}uv%* )faﬁ a?? c = Zo kN

S'Faj\ju.&__j_‘}_ 9—?‘(%)& m?-F e = Fo-Fe =0 KN.

Let D he dhe nom)' d:P Covndoe)sherins .

f?’t’m %JYYU‘U’Z/ 4?7“’&‘(?1‘1}2

2SS = 6'5’__.

2< &—2¢




Subject Code: )77 0 4 |

SUMMER - 15 EXAMINATION
Model Answer

Page No: |6 /40

Q .NO | SOLUTION MARKS
Q% b - S
Condese
€ = BSHKG = 23878 rr0 erm A
35+55 £
'y B Galededfor
Bmad A = o Sirple 5ufpo{f'
Bmeld ¢ =0  Pee prd a_/f ONLaAuny, imM
Bmeal D = Lpx23% - (155 2-23x 233
= z 7
Mot n — LoR7 KN
BMut B = RAPxg - (15x6x3) = —&0 KNI
Q3C> 4 KN _?j,‘“;vzr{s,f
¢ I (< 0 WL ey G e 48P

r7

@ ZH=0, Rp = 44242> = 8 )l

%ﬂm—;”'

qak—— 4 m

i 17.5F. codududion

\ 1kl S Fal pwat lef of A = © KN
\ N [¥) /
SF el jush aa",q/d ef P =Rp = 8RN

S Fal just e = 8RN

2.7

N

& Fedjutrleftof B=8=(2:=4

dﬁ;@rd*hzo){h-

bl 233> gom. coledeon.

Bal B =0 --Free epcl.

BMal e = - 4¥2 = AXZX|

1m

w12 1 b

—

Brriad A = ~4x4 - 242X 3

= =28 AN




SUMMER - 15 EXAMINATION

Subject Code: I7ZGZ, Model Answer Page No: \F /40

Q NO

SOLUTION
KN

MARKS

QRIBd) N ﬂ LC' 0 AN

i 7 1im T 2m

AXN A

268w

d m
=

SFP (KN

2w 1)

ne)
(=) /KE r)ETaff— ,ﬂmaéo)a )

vk |

Z R0

BN DN )

SRA T

! ? \Su;D,oaa’j Nw}fm’)

ay =fu=0 ' QRp =2+ 0x2> = 4KN.

d
PPy Ge Fr Cadadelon

S Fal leptodp =0 RN
Fof - jaP = Ap = 4KN
SF mg»hio;ﬁr p =

S'ch./‘?f_#( = AR

& Fed méﬁ,j of o= h-2= 2PN

1m

S Fed D = AEN:

SFred B = 2-11x2) =0 KA.

29y B Cededeor

BMmal B =0 Jrpe endd

Aol p = —cix2x1D = — 2 UNY)

BMal c = —(Ix2x2) = —4 RNID

1m

Bad p = = () X23%3)= Ax1) = =8 KN 1)




s

Subject Code: | 756/,

SUMMER - 15 EXAMINATION
Model Answer

Page No: \ 8 /4o

Q .NO S'Kﬂ SOLUTION 712Nl MARKS
g36> ) lc. LD
A A 1.5y —M 2m %ovs’m}@
LR AKN |
)
€ ) B 1 m
i 1p Il >
SFED(KN) ©
P 8KN Ry
/\A_Hmf)
oag“'y Q) \ g™ _‘[im
i 0 <
810 p (KN
?’7 \Su}o,ooxj S‘f,e,ut}rooy\é
0y ZiH=o0
RP+RB = s+7 = I2AKN
by Zmepn —o
(&#)8)+ (7x3.8) = 4P =0
32 = 4Pg
-~ Ra = s KN 1)
S Rp s 12-8 = LN,
7717 S-F. (?a/&u/aﬁ’aﬁ
S F ﬁ/?‘?viu%‘}' i 2 07’ A =0
SFet just of B =RP = 4 KN
SF o MS’f I ;fUC = AKN
S}’af;u& ;ﬂﬂ/}w‘o;’c = 4~s =4k




SUMMER - 15 EXAMINATION
Subject Code: Model Answer Page No: _\9 /40
Q .NO SOLUTION MARKS
B
?M? SeFatjust legbof D= =2 KN
Pon e _ 7 - i
SFet, nenL i@m’ 7-/ O == E RN M
CYFNANY IS 2F &,ﬂ = -8SrN .
sf B =-81R8 =0 kp.

S Fad TM+ zieaJvf

Peos By Caledalio .

BMat A = BMed B =0 . - - Sinlno/c &uppoxf'
Bmat c = Rpx)Gg = 4%8& = B RN 1™
Bmutp = Anx3.5-(6A2D = Lx3-5 =10 = L KNI,
.3
QJ:P} / \
D
Y—’Sr"' gt i (R 4.
D

ivey) - MIpg — & A83XD ;mmz’ —t)

2 _Jr phs T2

1
tsiny ’Dawm}jf,/ax)_g Lheoaer) D Fpm ?sfim_%'
oY | 2m

MLyrag = Ja+Ah
e Lga 4

l'_Z—/J

MIpR = T Dq-j- il D<' — a- 2454 DL'

—L33)

1)

E4L 16

Faucding ey (S ) =£(37

A ge S 5 o 2ushn

DY = 2.56%10°

5
D = (2555x;oé) &

= A0 ynm)

Am

Diamilte of clisc js  40romm.




SUMMER - 15 EXAMINATION

Subject Code: ]750[, Model Answer Page No: 22 /40
Q NO SOLUTION MARKS
94 Q> l,omm -
.
Ldt b = L omy)
o= 6ermm
% Gemm s 3.M)
7 * A
d-6° - m
7° 7 %"
A b 1] B
M-I abaud AR
83 pa axallt] oxis Jbeore .
Tﬂ-ﬁ = ICI + Ahz 4m
= A2 bel Zl \
2
40%;0%_ 40 K60 x (£ G il 1.mM
!
c
= 7;20;(;0 + 2.16X/o
TITpr = 288 N/a‘{mm / 2m
MNT. of Sa}}a} 2L Jﬁu/}" A-&J‘ré)/) aé‘.baal,t
L5 Lricidle é}’pﬂf LY L S5 X0 6/:77:94
S4b) ——
= ' [ S
i @ | 297
| . l
T - ZOM) 12V
a =
i @ N = 7/ 250079
@ , Zimg;-
(CIY) 2o —————




SUMMER - 15 EXAMINATION
Model Answer

Page No: ﬂ /A0

Subject Code: | 7Z0
Q .NO | SOLUTION MARKS
4by T, =
Sap 1) Postlior) of X-K oxia (YD
Contte-e |
a, = 120820 U =120f20 = 80X20
= 2L o0ynm - = 2200 % = (60 0mrl-
3 = Gemm ?Cz,zéomm K3 = &6 rorm
4, = = (omm Yo = R0712° - go i3 .f.,?owzw%
o A = |50 msPD
DY = Gl 92N, > Agle
A1 +Yz+ Az
= 2loo x10) + (24oex o) +(lgoe x(s0 )
Rh00+ 24004 |00
Y = 725 Frorn boitorn. A
g P> M-I about XX py Daza,Uf/cx)()s Jhepaerd
Txx = IxxX, + Ixxs 4 I)W.’r;e
IxX = &G;d‘ﬁ\%?‘-]'}fj('z*)"ﬁ?); 7 }—j—’GE*ﬂ’dl’):‘aY im
A xR, = 12!’52123_;_ 2400(7/‘26-/0’)1 = Q‘ogx;o%m‘!f%—ﬂ___
) e
Txo = Zowae’, 240e(7/25-82> = B.obxso It ™
Z-
S il = 80}7;:‘20 1 oo (7/-25- Ls@ = S’S?X/aimmé’ %”L—»M
n Txex = 3-D8xuf+ 3-85)001‘* 3'97)(/05
T XK jz-llx)o‘{mmé
Co T cbad K% egie 1a 221 %107 romo @ )




SUMMER - 15 EXAMINATION

Subject Code: |7 %564 ) Model Answer Page No: 9740
Q .NO \&rr77) %r SOLUTION MARKS
K4c) i
@ !

!
. 1409

@ 1 anm)
7 i
— s rg————3
rL& 2¢ .

?> FO\S‘J)"IM o:ff }”E{ s > D

Q) = 15410 = 1S _ Qz> FEKIO = 7SO yom ™
2 = (D
=

— & 202070 Xz = 75 G735 200772

a—t

9¢. = Cuxh +Az KXo

= (150x8)+(750% 375 )
Q) + g

1160% - 750 -
2= 17828 5077 ir
f?’f) P I abeut :,}l*'ai a—wﬂ/r) by nmﬂ&/ axis Mredsers

Tay = F39,3 Tyuy, 109
Jq SAV d =
-J:,\“:l'l = T+ A )‘) [;LAZ bl (71—7@7 /
2 p= &
“I;‘,}pﬁ, . lrslv%oa_;, 1150 (17:828- B :98-82>U£’wm" =z
' pe B
Ty o = 64130 xi0% rorm Frm
S Z 7/ =
s AN = A0 EXXIDT yoyw ™

~d



Subject Code: | 730 11

SUMMER - 15 EXAMINATION
Model Answer

Page No: &2 / 40

Q .NO a ?8LUTION MARKS
Q4 d) |
/ ' \ 8o mm
/N
had - / i i -\\ : j— X
P o
/ | b 42
n/ | \d, [Y¥=2077
y b;sévmm/'?o@m
WM T aboul Fhe GGCH]J Seilion
Tux = g}f 2
Toex. = Sox60> 480x103m7774 aimM
FE L
!I’\l\l - hb?\(Q . Q’Xé‘ﬂxéog-— 6’40>UD‘3)’>7)’?’)¢ a1
dg 5~ 12
vy I aboul phe  bose a/f trcmgle. .
I:qﬁ = By !Dmﬂf// NS I eoey?)
= YT, + HhY = bh3, 1 hvh b=
36 A 37
Yot = hhoy bhS . ph® 1)
86" 18 & P
CIpp = Q%gaf’ _ 1-24%0%mm? L)
aR alformnalc SoluRwy
2 .
i ThR = }37)33 e RORBY oo Ivél{xmfmmé 2M.
7 = / R — -—




SUMMER - 15 EXAMINATION

Subject Code: |7 9 ol_' a Model Answer Page No: E;[ /4o
Q .NO SOLUTION MARKS
S4¢e B J

1> Bencling ec{l”'

R

d

i’ Mement a.;P 2edisternee. (M R

T he resistance o(gﬂ??fd by the rorornt

@a'f C‘coc.?o/e slue Fo oo Qgpucn/ =1 ap}/)es?f@
#:{cﬁ +o the bercline sromen? y1) slue to

M

|
rternad lowcls s colled b pooment of
T ERSS el I Ce 177207 T 07{’ >e8is funce B8 dhe

Priternad zrornenl setup in dhe rropteiel] a7-£

Jhe beam.

Q4L¥y

2.7)

NA ot T’"«)ﬂ\

Radwgulob” Ses )Mo Sheus Sresd

clicrrrbudion clic kale

iy

i Relehionskip brhieen rouipun =f mécf/. Shownt Slves

2r)

—

Z—n'mx — 2 Teoue
i 5 d

Cmoy = 1°S medta




Subject Code: 17304

SUMMER - 15 EXAMINATION
Model Answer

Page No: ) /40

Q NO

SOLUTION MARKS
54 @ivev) - fox  yectargukyr  bedw
b= 100mm , 4= L50mM
L= 2m, 6 = Moswmourd bendmmg ctrece = 280k
Tz Shegr shrede = 2P| mro>
Tofind! - Totevcity of 'ydl’ i-e. Mag/mUMD
lead  cuppexted by beam s V.
¢y - M = 6} '/M
i \v L
M= Mot U™ popding wow ent
- wl? —> powming bram gz
& TOplY ﬂl]’)pﬁ%’h"d beamw
—— Q-‘ ! :
M = WD~ = 05w
&
= - L;\A
\M — 050N Prww) A3
T = bﬂf = 100 % (50 ::281’1"\‘#06[“"9& ‘/ﬁ'm
12 jo
Y = d[, 10 - TTmm, AN
= 2
M ~ 6
— v
3
05100 = 2738 ol M
Q 8 )25 W08 A
Ww = 213% 0 % )rsh)Lab
0 CNLASRT &

W= 21000 Pl

W - 20kPfwo | — P0S.£ude)

Wz 22 = 42k —> (Toad ) oM



Subject Code: 17304

SUMMER - 15 EXAMINATION
Model Answer

Page No: 28 /40

Q NO SOLUTION MARKS
5-b @inen - d= diameter of  cbaft
e ciweday  cection
d = Kowm .
To—(-fnc}h Ire+  of e(ceﬂ‘f'o-t'cih’p e’
ColuHon-  We know  THat
6 = & 1, ™
A Z
7 = F{E
A Z
l =. B
A Z
e = =z |7rL1\‘\
A T
- N(d3 L—M_
B _ an ' 73" )
T a0
g e
=7 dBx K ]
g ! w d#
&
Y
(e - lowm] —>Ans. ol M
—]



SUMMER - 15 EXAMINATION

Subject Code: 1730y ﬂ Model Answer Page No: 27 /40
Q .NO SOLUTION MARKS

B-C | Given!-  fox @ wectargulay coluwn

L :

1505

i RS
P
_ o f— e
=“rectangigr

= At of " plate 150w

A = Hhvckpece of Coluwn TLA0®M

P = LBoALo N, load

e -~ eleptmaTy = 50Mm

To 1109 '@ Mav’' U™  ghrese itensty (Guay )

() Mioirmuns  Shre e ;n%engw C Emiv)

Ecl”.'- HWe kreo tHhat,

Grogy = 6o 164

g

VA
Gz 60 —6h ‘/3,‘”\
€= p = 1BaHa
A I Reiaiby¢
RISTING
|8 100

6= LO Q/mma‘




Subject Code: | 7304

o SUMMER - 15 EXAMINATION
Model Answer

Page No: 28 /40

Q NO SOLUTION MARKS
i M\Ip\a:‘ Pe
= Lf;mu-@g%l;o
N 7@1«1_0‘!\1--(&\@ \, ™
L 4™
7 = Iy _
- 4b”2
S
= LOOX(LFSO)Z"
: _ 6§ . .
410
6p = M £ MVP
z Ly
2 '7-‘;“&1—06_
- 275%s7
Gb = 20¥[row® M
L 72 T
Sy bveoy = 6o 16 5
-~ 10+120
6:."5\:!&’1 30 P’ImmL ———%C@mpveuive [/Z/V\‘
pate e,
Groin = € "‘6\‘_,,
= 10~-26
Cemin = —LoPmw™ | e tevale Datyes |1, M
= ‘ z




Subject Code: 17304

SUMMER - 15 EXAMINATION

Model Answer

Page No: Y g 40

Q.NO | SOLUTION MARKS
E'C‘D’ @Nen! - fox cisewlgar colurmn
P E¥&nd  diameter =40cw - 4a0mm
d = Tovesnt) diamweter, — 20co =~ 300 mDM
P = 1S0Ne* W >load |22
l ’
X SN
fo 40 @ Goae ==\
D Gore L L VIS
col®! - RHe kpeo +bat \k |
S
€m0y o 6o+6b l
6oy D = o — 64
6oz P = 1600a ™ L,
= %M
A T hoo*20p”) -
7
60 = 2,7283Kmm=| ) m
/2/' !
J
Z i—.l\‘( 12, *
s _1_‘15(
T
= P%QWQ'-D/Z- L'MJ
T 4 OOFaD :
64 .
—  LEoKLo K 20DR (4% ) e
- T

) ) A (: fbér‘dqj’
6p "




SUMMER - 15 EXAMINATION

Subject Code: ) 7304 Model Answer Page No: ﬂ!‘fo
| Q.NO SOLUTION MARKS
€b — | 56 Lo A 20K 207
— »ra andXlab
R RRLESS TA G
6= 69346 Ffrom= ), ™
/ il
oy = 6a+6p
Z 9. 70846 984
|G = 9. 72€ P[] — > comprescve in |\, m
Votuse v
bmin = 64 b
\ NM"‘—Z; 256 pl —> Tendile 1p s w4
NatUrce, v
:_;~e}> @ven' - fox o wedumgulgy  wod  boot o
y 'C' <hape,
E-swl . ]
| |
‘LlfOkN
~ o
af NS
A ] g S N .
| 11
| "
]
' ]
( _



SUMMER - 15 EXAMINATION

Subject Code: | 7364 ) Model Answer Page No: 3] /40
Q .NO SOLUTION MARKS

5-€°| b=-100 ®®

CooPnye A = HO O

P = 4okBZ 40%ip 1)

C = 200 OV

To4rod. - Restant alopg *-X.

U
Soluytion ! = Gm;-g - 623 + (’h

6mp = 65 -G

§o= P — Lovle
A C 100% 50D
6o = &N mw* _—
4™
M= Pe .
= L O % ey
M = 12928 o3 oA
/)/' I
2
b’i 3
F = d - 5041 00) ),
1o 12 L
T — 4166412 o Y
& = My = L2400 b
T iy )66~4106 -




SUMMER - 15 EXAMINATION

Subject Code: | 7304 Model Answer Page No: 3_7/!110
Q NO SOLUTION MARKS
Cword = 65 46
= £1)4Y
~ 1589 MPa
| Ewent = 3<2 MPa _ —> "Tepgfon E,Lm
gmin = 6}\ - 6y
- €-14b
brofo = -)36
v o —)36M Py —> CompreLIon \/2)'\
ps aed  je¢ bent Dto ¢ shape , 1t i<
dencion  ®ewbey ¢ tepsion ¢ (andePPCI
ac e and omprescion i< jakep oc¢ -ve.
Reculdant  chreccer  dovelopee]  at cechon w4,
jmqg(_: .152 }-’?CL
oD = 136MPq
6 > Gnen - tox -Techﬁgu,lmf cxecc  cechan
f
/\W
) A
2 alt)
W e R




SUMMER - 15 EXAMINATION
Subject Code: 17304

Model Answer Page No: & /40
Q NO SOLUTION MARKS
ToH0d - Limit of ecu’nhro'ry
@lution’- Cace-r @ lcad alopg %-920<
G@ ’:6‘}:
P - Pre /o
bd  db% /7
P___".: 6[)9«4
bd b2
_ﬁf/___ -~ 6pe
72 4 Ab#
1 = 6e
b
é. 3 bl/g L™
= _LOOO/G
| & — 16666 mmg1 — along ™
X-aa&)¢ -
Cate~L ' - load along Y-g=/«
6o =~ 6},
L= Te, e
bd bd %6
f = 6fe
bd b
y - 6fe
Yo o ¥ o
- 744
L - 6 7. e d_/(; 1
e —sprfong - 55
e - 2000[6 = 393-.33!’?“‘)4{ C‘/é'ﬁl_ff 7



Subject Code: 7304

SUMMER - 15 EXAMINATION
Model Answer

Page No: 3‘_-’ /40

| Q.NO SOLUTION MARKS
647| Assumptode  of  Pure Yoncion  ere
iy The chatt wateoad e homo,qGDeus (5 sotacpic /‘M;
2% THe <¢hatk ¢ ctwaighr hcwmg un ifeonn eatn
ososc-cecHon omy
2 The <baft ¢ qgceted u,]poﬁ b;,a pyze toucion MI
4%  cheay tvese ¢ divedly  proposhonal 4o Cotxs)
Sheaw  hwarn-
‘3> Cechon plané betove +ws 1"‘113‘9 ™®oent will
wewaid  plape enen after @ppbcgﬁm of
ﬁmd'fr)g morvenT
6*b> @vevn’ - foxr @  <hatt , wied +o tyancot peoes
Pz 20kW 2= 2owsK) '
Koo 1bo VPO
Teoae) = Mage/oUYD  foxque = 4o of Tave
] = 04+ Tave, |
Torg = L4 Tave LM
g
T= FoMPa- Bopmro?
;To{"'ﬂd ' digmetes of shaff
Cojutiony |~ P = 27P Tave, |, M
e Y1)
90t = 27T % L50A Taye
' 60
Tave = LQ’IS‘ALAg K-y
| Tone= 1.273%2 80 miw 4N




Subject Code: ) 730y
Q NO

SUMMER - 15 EXAMINATION
Model Answer

SOLUTION

Page No: 35 /40

Tmm(::

MARKS

LY Tave,

Tied = LY ]-272% 06

Twenl =

. 782 WO m

TR = Ty T3 D

= fﬁ!mw{ 5o¥ D>

_’_'Dr-

= 5663m®mM 71 > PDS

@-6 C )

G@iNeD' - fow a cbhakt

4z 40 ®®

= diomwetear of cbatd

Nz 2 06O

T = <hear crvess = §6EMP&

= &85 Q/mmg'

To%ﬂ’)d - Pecoer +mf)cmﬂ4€d bp ¢ batt

QluHon - P2 2TINT

60

T

\)

T/ls*ﬁ(ﬂﬁ

. Tf/[ﬁ 858 (40

- 1.068% 136

= LOGQ’*L&SQ M

oM™

P =

21TR 2 00X 1-06‘8%@3
60 ]

oM

P~ 22,37 %0 W N ADS

P = 22.97k0 | -

2




SUMMER - 15 EXAMINATION

Subject Code: 17304 -e Model Answer Page No: E_f 4o
Q .NO SOLUTION MARKS
6-d> | Given! - Fovr  a  chaHr
P = Powea +mmmfﬁm = ysotid
P = 160Hs W
©z 2 60T PO .
T = <headr rsecs = SoXfores
@ = pPgle of dwistz )5
= 1SR - 002167 qaddns.
180
L 2 Lenﬂfrb o chatt — 4O
-~ ) 000D
@ = Modulue of fzs/qydﬂry
- 08%0 o
To40d - Diawdtes of <hatt
SolutieD - @, op +he bagig oi: ctrengih
Tz T/]6XT X>°> m
i /'L li
?':— QTTDT |
6 0 2
180%3 = o7 % 200 AT
0
T = —7"61!1'@@ l)ﬁ') ', i\
. 6 7.
T = 7 164)0° Promd
L—_ et
D - (76% u@ = 76.9669
__ (7)16x 89 1 m

™ =76970m0 |




SUMMER - 15 EXAMINATION

Subject Code: _[73011 ‘ Model Answer Page No: 2F 140

["Q.NO

SOLUTION

MARKS

@ Op +be bacic of an_;g!e of twist

e (HHDeLe

T - @

‘D ),
T L ’
T - @@
106 = -
T |6¥ 1o = o3¥e F0026(
T~ pY 4 oog
29
DY = 7:16% Jo6% 32 Y000 )
09 Wo3¥% 002 61T £
= g.)6G %"
6SSqbiLe”
oY . 129.7)%106
> = 1082 mm | )

o tddeen @t cwitable diowetec

B Do 1 03T — > NS




SUMMER - 15 EXAMINATION

Subject Code: 17309 Model Answer Page No: 38 140
| QNO SOLUTION MARKS
(eS| Giyenl- »z E+band] dramefer = Hoomnd
———————

d= Tokfespd| dd™elgr 200 WD

T = TWrhng Moment = 46 v0 O

\Y,
~ 16500 0° 0O

@ = Moduluc of ‘F@b’f’fy -:@zuag”]mw’"‘
L = 260D

- 2060400 = 006,

Tof0d © Maicoyn  iofencity  of  chrecr

~ I
U ADSe  of twisk

Soluion' - (@ Moy iotendty  of  ctlesg
"B /

T = Troon LM
—— v
o) |8
-'32 ™
- ’ Fha 40041' Q_OCJC,F')
2L
T = 9,356407 o7 | —>pdos Mg | hn
R= Dy = 400  =g00mm L
2 ne
Hesohie®  —  Twooy
9 . 386)%e 9 200
Toog = 4650WaF 200
- 2.3561%09
Ty = O 32997 Ufrow 2| 1/8\']
s =




Subject Code: | 73064

SUMMER - 15 EXAMINATION
Model Answer

Page No: 38 140

08 C-@.

[ Q.NO SOLUTION MARKS
@) pogle  of AFwich
T4 - @@ ), M
T L <
3 =
HES0He -~ 92416 PQ
9, 28612 000
@ - 46C0%ip % 8000 e
2356/ 1o~ o
= 1.9?70*\{),@’?
a - 1.92504 %M'? fa"dch'amfl
)
- 1’9270 )80
— T
|
a - o-o)mi_L o| M
G-+ - Neutsa] PHIC
Whoo  boam™  jc cubiecta] 4o pyve bending
) ~J CoDeAthes
Foese  Y¢ a  lawen  w@bich will eat " wbjected
4o dencion Doy CompyesaoD [ such  a  |ayep
1 [}
¢ called peutyal ey  o% peutsal axr¢ (1B-p)
¥ —L a
| Newtxal pxic  aloaye pascec +bwough cootwornd | gy M




SUMMER - 15 EXAMINATION

Subject Code: 17.3011 Model Answer Page No: At_o; Ao
~ Q.NO SOLUTION MARKS
6£-i) . Compazrcion  berwetn solid <chatt & bhollaw
dhatt
o | Paaweter | slid  Shabh Hollow  chast
[
L Polas NI | T=T .*(fp)é’ ’ﬂ'qv(_p"f-dg) (GIM
32 32" p foy
oy
o |Polaw modulg == T~ 4 AN ('Dz’—-dl") —ru;‘o\
¢ |5 - A
2 [:Ton'c!ue. Tem grynd | T2F w77 /%P ol xe2
Tean ot ed R 6 2
y | Hoecr |coid dhaft Dac  [Hollew Shatt bag
Jocs chengﬁn & g‘aec&e& chvepstb &
HEfpece +oap a | chefnecc Ahan a
bollow  ¢hott ¢oltd ¢hat+




